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QUESTION NO: 1

Your organization requires a process to be initiated via an Appian web API.

Which HTTP request methods should the API use?

A. HEAD

B. GET

C. POST

D. CONNECT

ANSWER: C 

QUESTION NO: 2

Which two practices are strongly discouraged for activity chaining? (Choose two.)

A. Less than or equal to 5 seconds between attended activities.

B. More than 50 node instances

C. More than 5 seconds between attended activities

D. Less than or equal to 50 node instances

ANSWER: B C 

QUESTION NO: 3

You create an interface, but it fails to load. When you open the design errors log, you see a memory circuit breaker error.

What are two possible root causes of this error? (Choose two.)

A. A database query is taking too long to evaluate.

B. The interface contains some special characters.

C. The interface is storing too much data in local variables.

D. The interface component is looping over too many items.

ANSWER: C D 
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QUESTION NO: 4 - (HOTSPOT)

HOTSPOT

A car insurance company wants to build an application that processes insurance claims. Appian will receive a claim in a 
JSON document and return a decision about whether the company should pay the claim.

Match each system requirement to the Appian object that could be used to implement the requirement. Each answer will be 
used once.

ANSWER:
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Explanation:
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QUESTION NO: 5

You are facing issues when attempting to establish a SAML connection to an identity provider. You determine you need to 
increase the authentication-specific logging levels so that you can view trace level statements about the connection attempt 
in the application server log.

Which property file should you update to modify the log output level? (Choose the best answer.)

A. commons-logging.properties

B. appian_log4j.properties

C. logging.properties

D. custom.properties

ANSWER: B 

QUESTION NO: 6

You need to show joined data from 5 tables. Each table contains a large number of rows and could generate a large result 
set after executing the Joins.
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The business is not expecting live data, and a 2-hour refresh is acceptable. Performance is a top priority.

What should you use? (Choose the best answer.)

A. Table

B. View

C. Stored procedure

D. Materialized view

ANSWER: C 

QUESTION NO: 7

You are troubleshooting a process model instance with an error in a node.

Which two options will allow you to obtain more information about the error? (Choose two.)

A. Open the process model from the process instance.

B. View the Process Details dialog.

C. View the process model properties.

D. View the properties dialog of the affected node.

ANSWER: B D 

QUESTION NO: 8

You are investigating a slow-performing expression rule and want to analyze this rule’s historical performance.

Which performance log should you look at to see the mean evaluation time of this rule every hour?

A. expressions_details.csv

B. expressions_metrics.csv

C. expressions_summary.csv

D. expressions_trace.csv

ANSWER: A 

QUESTION NO: 9

You have been asked to produce a Tempo report, with the following requirements:
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The report should display in Appian.

The data is held in a business database, but performance in Appian is a key requirement.

Which three actions can you take to minimize the performance impact of your report? (Choose three.)

A. Display the report as a task report on the Tasks tab.

B. Limit the number of series values and categories in the report.

C. Use local variables in your report interface to avoid redundant database queries.

D. Use the query process analytics function to retrieve the data.

E. Perform aggregation in the database using a view prior to reading the data into Appian.

ANSWER: B C E 

QUESTION NO: 10

Which user role should be used to allow external systems to invoke Appian web APIs?

A. Service Account

B. System Administrator

C. Application User

D. Designer

ANSWER: A 
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